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0 0| -1.953-10°3
1 1-105| -9.766-10°%
2 2:10°5| -1.953-10°3
3 3-105| -3.418-10°3
4 4-10| -3.906-10°3
3 5105 | -5.371-10°3
] 6105 | -6.836-10°3
7 7-10°5| -7.813-10°3
a 8-10°5| -8.301-10°3
9 9-105| -6.836-10°3
10 1104 | -6.348°10°3
11 1.1710%| -4.883-10-3
12 1.2°10°%| -3.906-10°3
13 1.3°10%| -2.441-10°3
14 1.4-104 -2.93-10°3
15 1.5-104

[IporpamMma ziJ1d BblZjeJIeHHME OTUOAIoIer CUrHajia
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55 = 5

st = mean{35)
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sr=—406x 10

35 = 55 — =r

Y= |s«10
k<0

for n= 0. rows(88) -2
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5 s+ [[SS}ﬂ]‘

test — |1 if [[[SS}H = u] A [(55}n+1 < u]] v [[(ss;«n< u] A [(55}n+1 = u]]
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E—k+1 if test> 0

s+ 0 of test> 0
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HopMupoBKa mosiy4eHHOro MaccrMBa

0
0 6.048-10°3 4
1 5.409-10°3 10
2 5.714°10°3 18
3 7.078-10°3 25
4 7.956-10°3 31
5 8.6528-10°3 37
6 9.505-10°3 44
7 7.25-10°3 50
8 3.871-10°3 56
9 4.305-10°3 61
10 5.32°10°3 66
11 8.478-10°3 72
12 8.964-10°3 78
13 7.165°10°3 84
14 6.553-10°3 91
15 3.721-10°
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1>10°

0 0.646
1 0.578
2 0.611
3 0.756
4 0.85
5 0.922
6 1.016
7 0.775
8 0.414
g 0.46
10 0.560
11 0.906
12 0.958
13 0.766
14 0.7
15
1.5x10°




[IpousBojHas orubarwllen curHasna

K = rows(MY) = 1.668 x 10°

DV = |forn=s 1. K -3

DY 1« MY o~ MY
Dy 0
n=1.K-3 L 0.033
1 0.146
ov| 2 0.094
3 0.072
DY
MDY = —— 4 0.094
median{DY) 5 0.241
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HeneHTpasnbHoe x? pacnpeziesieHue

k k
1203 0,4 0,62



